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SHBSIET S YEBSIHEZYD
B0l Y 04, W= T OIS
LHBES AR XS EER=E)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
| O= oscngols g=x4 33,500
EEERE 21,440 21,440
307 elzto| & 21,440 21,440
02 2B YAIHE A 1,440 1,440
OFZ0IM0E I 1,440
04 QIZHHAMAIH 2 £ 20,000 20,000 0
Os=0dUzl 20,000
SSHENY 29 1,404,795 1,444,795 40,000
306 E= 1,404,795 1,444,795 40,000
01 £¢=2 1,404,79% 1,444,795 40,000
OBS0alE S012 1,404,795
SR deUXNu= 6.000 10,000 24,000
201 er=23| 6,000 10,000 24,000
01 AtR2te|Hl 6,000 10,000 24,000
028 40X B8 6,000
dHES 243 37,000 42,000 /5,000
307 @I2t01 & 37,000 42,000 /5,000
04 QIZHHAMAIH 2 £ 37,000 42,000 /5,000
OYHBE 235l 10,000
OYHBES Y3 27,000
oy 2o sd 6,179,571 5,824,344 365,227
= 125,310
7l 4,227,605
= 1,826,656
JHE=EEY dgA 29X 630,414 602,325 28,089
Jl 420,276
s 210,138
308 XXM SOIA 630,414 602,325 28,089
Jl 420,276
< 210,138
01 XN BSEES 630,414 602,325 28,089
OSE ag4 2N 159,309
Jl 106,206
== 53,103
OJtE=e &84 28X2 471,106
Jl 314,070
= 157,035
IR ZEIchA 2sAl4 28X 801,961 699,122 102,839
Jl 674,579
& 127,382
308 AXIMSOIA 801,961 699,122 102,839
Jl 674,579




AR YHPSIEY SN SEBSIHEIMB
Zu: BO| Ys 08, W= Fe OIS
=t ol A s EER=E)
4224 - B G9(EH) - AIRAY - BES ofl &t A HIDEZ
< 127,382
01 X HHNEAEXS 801,961 699,122 102,839
OJEZHIA ESAE 23 708,974
Jl 583,861
== 125,113
OJtE == TIoHAt AAHHl X 30,130
Il 30,130
OJtEZ=TIchAt Ageadl X2 12,857
Il 10,588
= 2,269
OJIE =T BESAlE Ela N2
A& 50,000
Il 50,000
IR ZEIIchA ESAIE JIsE 22,125 22,725 AB600
J| 14,750
S 7,375
403 MRS =01 22,125 22,725 AB600
Il 14,750
= 7,375
01 A= 2L 22,125 22,725 A600
OIS =4 Lokt 2SAE JIs22 22,125
Il 14,750
= 7,375
JHEEZLCHAL Xzsls 2208 K& 72,578 72,578 0
J| 59,770
S 12,808
308 XXM SOIA 72,578 72,578 0
Il 59,770
S 12,808
01 HRESHH B EES 72,578 72,578 0
OJMEZHIoA Xgsls T2 72,578
Il 59,770
& 12,808
JHEZ#Mch A 2 2] X1 (13664 ) 5,000 3,000 2,000
Il 3,500
= 1,500
307 212t01& 5,000 3,000 2,000
J| 3,500
S 1,500
05 2ItRIE = 5,000 3,000 2,000
OIHE =R 2/ =2HI(1366) 5,000
Il 3,500
[ 1,500




L YNESIHEZHD Sot=mw
=0| U= H4, =2 == IS
o &S S& EERE)
2. 24 BB . O (30) - NIRAY - BYS A e

IS ZZToh AL 228l X2 (A=) 23,785 25,485 A1,700
J| 19,588
T 4,197

308 AHXISHHMSOIN 23,785 25,485 21,700
J| 19,588
= 4,197

01 AXISHNEBAELRZ 23,785 25,485 A1,700
OJIE=ZHUal A 22| (A2 23,785
J| 19,588
& 4,197

ZATNHE F=HKE SHXE 35,003 33,611 1,392
J| 28,826
T 6,177

308 AXISHMSOIN 35,003 33,611 1,392
J| 28,826
= 6,177

01 AXISHNEZAERZ 35,003 33,611 1,392
O=gIid =AHXE 29 35,003
Dl 28,826
= 6,177

ZATINHE F=HKE LUHESS 554 1,480 N926
J| 554

403 RIXIHASK=0H 554 1,480 N926
Dl 554

01 ARS8 X 554 1,480 N926
OZFIAE =HAE LUHES2 554
| 554

8= Dol At WaEXsZZ ) 16,007 16,007 0
J| 13,182
T 2,825

308 KX SHMSOIN 16,007 16,007 0
J| 13,182
T 2,825

01 AXISHNEAERZ 16,007 16,007 0
ONE== JioiAt WEXSZZ ] 16,007
J| 13,182
= 2,825

ZZIIoH OlF0YE &Y 2R 191,571 189,831 1,740
J| 127,714
& 63,857

308 AHXISHHMSOIN 191,571 189,831 1,740
J| 127,714
T 63,857




AR YHBSIHEZIMP SN YEBSIEI P
Zu: BO| Ys 08, W= Fe OIS
=t ol A s EER=E)
AT 2N - FHB . O(S) - HRAY - AR 01l & A TimE==
01 XN B2 LS 191,571 189,831 1,740
O=4llch 01F0d &54 28X 191,571
J| 127,714
= 63,857
Z31lol OlF0d EsAlE 2EXE 218,252 211,745 6,507
Jl 179,737
== 38,515
308 AHXIHMSO0IA 218,252 211,745 6,507
Il 179,737
= 38,515
01 RSN EES 218,252 211,745 6,507
O=gUlol 0IF01d ESAlE 29 218,252
J| 179,737
S 38,515
ZHUo 0l=0d EsAlE &4 NEAEs N 10,000 10,000 0
Il 10,000
308 XXM SOOI 10,000 10,000 0
J| 10,000
01 X SHHBAEXS 10,000 10,000 0
OZHIlol OIF0d EsAIE &4 NEX
Az K& 10,000
7l 10,000
ZH5UloH 0lF0E ESAE HEE2S 4,250 4,250 0
Jl 3,500
== 750
403 NI EMS =01 4,250 4,250 0
7l 3,500
= 750
01 XXt A2 = 4,250 4,250 0
O==llcl 0IF0d ESAIE 2L 4,250
J| 3,500
S 750
=301 010 ESAE dUESS N 100,000 0 100,000
406 JIEFX=Z01E 100,000 100,000
01 JIEFA=01& 100,000 100,000
OZHIldl OIF0d 2E3AIE UHESS
A& 100,000
2283 1366MHIH S (SHIXH) 720,798 699,858 20,940
Il 360,399
= 360,399
307 212t01™ 720,798 699,858 20,940
J| 360,399
S 360,39




A= SHESIHIEFRA £ SHEZH2
g B0l A= od, == F= =S
el old dey sd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
05 elzte(&r = 720,798 699,858 20,940
O0&2=Sd3st 13668 29 720,798
J| 360,399
= 360,39
O&21=2®3 1366MHIE 2 (REMIALRY) 27,000 30,000 A3,000
307 212+01™ 27,000 30,000 A3,000
05 2IR”IAE S 27,000 30,000 A3,000
O &2 X3t 13668 23 27,000
0421283 13664IH JIsEZ (=X 19,100 19,400 A300
J| 9,550
S 9,550
402 SIZEXHE0I M 19,100 19,400 A300
Il 9,550
S 9,550
02 QIZEN2AILEZ(0IETHR) 19,100 19,400 A300
O0dl=2dst 13668 JIsE2 19,100
Il 9,550
= 9,550
=S oL 2 762,941 735,462 27,479
Il 508,627
= 254,314
308 XtXIEMSO0IE 762,941 735,462 27,479
J| 508,627
S 254,314
01 XN ELS 762,941 735,462 27,479
Od=3 dgh 2SN 762,941
J| 508,627
= 254,314
AZANIHAL 2ESAIE 2GAI2 708,933 685,755 23,178
Jl 587,867
== 121,066
308 AHXIHMSO0IA 708,933 685,755 23,178
Il 587,867
= 121,066
01 RSN EES 708,933 685,755 23,178
O&=E4Ilolkt ESAE 29 686,039
Jl 564,973
S 121,066
OdZHTol A MAHl X 22,894
Il 22,84
SAEZNIGHAL ESAIM JISsE2Z 19,557 3,000 16,557
Il 13,038
= 6,519




A= SHESIHIEFRA £ SHEZH2
g B0l A= od, == F= =S
el old dey sd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
403 AXIEHMSAH=01& 19,5857 3,000 16,557
Il 13,038
S 6,519
01 MXIHH A =22 19,5857 3,000 16,557
Od =gkt ESAld JIsE 19,557
Il 13,038
= 6,519
SEZSM6HAL XZ2ss 2203 75,165 72,930 2,235
Il 61,900
= 13,265
308 XtXIEMSO0IE 75,165 72,930 2,235
J| 61,900
S 13,265
01 XN E2ES 75,165 72,930 2,235
OdZHIIolAt Xgels T2 75,165
Il 61,900
= 13,265
SEZSMIHA 2=8] 2tEd] X 59,688 69,792 A10,104
Jl 49,155
== 10,533
308 KFXIEHHMSOIS 59,688 69,792 /10,104
Il 49,155
= 10,533
01 RSN EES 59,688 69,792 /10,104
O&=A0loi At 2| =4, 2tEHl K& 59,688
J| 49,155
S 10,533
dZH0oi 4 S=HIE S K& 23,800 49,500 A25,700
Il 19,600
= 4,200
308 AXIHMSOIA 23,800 49,500 A25,700
Jl 19,600
== 4,200
01 AIXSHHBAELS 23,800 49,500 A25,700
Od=&lloit E=HIE S X 23,800
J| 19,600
= 4,200
oidieto M 2SE X 830,524 795,095 35,429
Il 683,961
= 146,563
308 XXIHMSO0IA 830,524 795,09 35,429
Il 683,961
= 146,563




AR YHBSIHEZIMP SN YEBSIEI P
mE: BO| = G4, #=S == OIS
el old dey sd (St &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2
01 AIXHMBAEERZ 830,524 795,095 35,429
Ooltte e (RID1X28) 29X 416,637
J| 343,113
= 73,524
Ooligtetd | &IE{ (OF ) 2GR 413,887
J| 340,848
& 73,039
oibtetd|slE JsEd 6,690 0 6,690
| 4,460
= 2,230
403 XIXIHHSAH=0|A 6,690 0 6,690
J| 4,460
= 2,230
01 RIXISH A2 R 6,690 0 6,690
OdlHIcIDHIE J1s82 6,690
J| 4,460
& 2,230
SOHOHIIGH A &S A 29 137,663 142,972 N5,309
J| 91,775
& 45,888
308 AXIHHSOIA 137,663 142,972 N5,309
J| 91,775
c 45,888
01 AIXHAMBAEERZ 137,663 142,972 N5,309
OHOHOWILIGH AR AtetA 29 137,663
J| 91,775
= 45,888
SONOHIIGH K KIRAIE 29 199,928 186,060 13,868
J| 164,646
& 35,282
308 AXIHHMSOIA 199,928 186,060 13,868
J| 164,646
& 35,282
01 AIXISHHBAERZ 199,928 186,060 13,868
OXADHOHIIGHAF XIRAIE 2H 199,928
J| 164,646
o= 35,282
SOHOHIIGHRE XIRAAIE JIsEZ 3,825 7,048 N3,223
J| 2,250
& 1,575
403 XSS AH=0| ™ 3,825 7,048 N3,223
J| 2,250
& 1,575




A= SIS Z M FA StSEM 2
M B0l (e WY, dEs == IS
el old dey sd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 XX SN AH=E X 3,825 7,048 A3,223
OXOHOHTIGHAt XIRAIE JIsSE2 3,825
| 2,250
& 1,575
SOHOHIIOH A EXIE AHS 62,701 62,701 0
| 51,636
& 11,065
308 AXIHMISO0I & 62,701 62,701 0
| 51,636
& 11,065
01 AXIEHZAEES 62,701 62,701 0
O&DOHOHIIGH A R=XIA A 62,701
| 51,636
& 11,065
A0H0H TloHots, @AEFXNJAEH 2 94,148 93,000 1,148
| 62,765
& 31,383
308 AXIHMSO0IH A, 148 93,000 1,148
| 62,765
& 31,383
01 AXIEHBLEES 9,148 93,000 1,148
OHOHoH Tlohots, EAE XJHE 23 HA,148
| 62,765
& 31,383
CIXE d¥HE EsZ2 08 XJAHY 63,750 0 63,750
= 42,500
T 21,250
308 RXIHMSOIH 63,750 0 63,750
= 42,500
& 21,250
01 XN BAELS 63,750 0 63,750
OURXE 48z SstZ28 X 63,750
= 42,500
& 21,250
FODt= ZHugn=s 97,620 90, 152 1,468
= 48,810
= 48,810
307 QI2Hol A 97,620 9%, 152 1,468
= 48,810
T 48,810
1 ARI=EXAIEE X 97,620 9%, 152 1,468
OOt ZEWL WS 97,620
= 48,810




AR SNTSIHEI MR SN SHBSHEZ BB
B 20| AUS 0148, B2 T =
el old dey sd (SH9 H2)
4224 - HE - B9I(E) - AIRAY - B of v G o HIDE2
| & 48,810
JoHotsEaE o QUAWF 30,000 30,000 0
= 20,000
= 10,000
308 XXM SOIE 30,000 30,000 0
= 20,000
=S 10,000
01 XN BSELES 30,000 30,000 0
OZljotsEAE doAN= 30,000
= 20,000
< 10,000
StlliMel o QWS 28,000 28,000 0
= 14,000
= 14,000
307 21201 & 28,000 28,000 0
= 14,000
= 14,000
11 AMEISXAEEES 28,000 28,000 0
OstuiMe & QWS 28,000
= 14,000
s 14,000
SPEEK 3,600 4,000 A400
201 et | 3,600 4,000 £400
01 AFR 22| 3,600 4,000 A400
OZHT 482, L0, 8= It = o
e 3,600
Od =R 2=SX& 4,000 4,860 A860
308 AHXIHMSO0IA 4,000 4,860 A860
01 RSN B EES 4,000 4,860 A860
ONLZHALUMNA ASKB(ESSHEA 4,000
SHHtCHIIMIE! SAMAF M LI 7,800 7,440 360
308 AXIMSOIA 7,800 7,440 360
01 HRSHH B EES 7,800 7,440 360
OdlbtetIIMiE! SAFG MK bI 7,800
A= 2el Al 2] X (136641E) 20,400 20,400
307 @I2t01 & 20,400 20,400
05 212+ = 20,400 20,400
Oug=52d AlE 2! X2 (1366) 20,400
A== 2 AIE 298 XA (A2) 40,440 38,760 1,680
308 AFAIEHMSOIH 40,440 38,760 1,680
01 AXEHBELES 40,440 38,760 1,680
OndZ2A Al 2H| X (A2) 40,440

_10_




20l AU o =
o=el® (Erel: a2
224 - ZH . GI(B) - HIRAY - BY Ol ot A HlmE2t
RSP 5,602,171 6.086. 195 484,024
2 408,247
2 2,796,929
= 2,396,9%
NYLHE NESS(RE) 2,400,218 2,364,630 3,588
2 1,465,109
= 935,109
307 21201 2,400,218 2,364,630 3,568
2 1,465, 109
= 935,109
11 A= RIAY 2 2,400,218 2,364,630 3,568
OMYHIEl N2 (Z) 1,310,318
= 781,950
= 528,359
OMYHIE XNBSY(MEE) 1,089,900
2 683, 150
= 406,750
MLHE NE 2H(A2) 1,331,820 1,344,610 A1R,790
2 1,331,820
308 XX EHHI S0/ 1,331,820 1,344,610 A1R,790
2 1,331,820
01 IXISHZ AL F 1,331,820 1,344,610 A12,790
OMYHIE XIZeY 1,331,820
2 1,331,820
CIEF AT AME X2 132, 144 129,957 2,187
308 XIXISHAIS0IH 132, 144 129,957 2,187
01 IXISHZ AR F 132, 144 129,957 2,187
OO EHATIAMES K& 100,644
OXAYEE Hnsss 31,500
CIFXIRIIZ SAR MMl X2 63, 120 63, 120 0
307 212401 49,200 49,200
03 QIHEH M A 2 HHIH X 49,200 49,200
OOAFHATIRI|Z SAX MWL (2
) 49,200
308 XHXI SIS 01T 13,920 13,920
P ENENEESS 13,920 13,920
OOARATIAI|Z BAX H2HMHI(AIZ
) 13,920
oA AT AU EA B L3 15,000 18,000 3,000
307 212401 15,000 18,000 3,000
(2 QA A2 15,000 18,000 3,000
OZ GEHAN HES 15,000
0140120 ZHIE] K& 182,000 219,125 A37,125
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LA B SRI(E) - AISAY - BES of v G o HIDE2
HH0Y CNE =€ A2l NFAS 283,860 258,300 25,560
= 136,080
== 147,780
307 el2to| & 283,860 258,300 25,560
= 136,080
< 147,780
02 QIZtEHAEE X 283,860 258,300 25,560
OFHNY UXE =& 2l XA 283,860
= 136,080
= 147,780
= 3E0d slYel KA 262,100 262,100
307 glztol & 262,100 262,100
02 LB HAHE L 262,100 262,100
O== FH04 5/22H NBAY 262,100
ey SAet2at oiel #ixior 24,000 0 24,000
307 el2to| & 24,000 24,000
02 2IZHBYAIAE & 24,000 24,000
OWd&e Hef2st oiel #Xliorz 24,000
ALIE IS 45,245,623 38,100,889 7,144,734
= 12,757,431
= 930,000
Jl 24,545,112
= 7,013,080
ZHH 24 3,215,498 2,922,777 292,721
Il 2,473,460
s 742,038
308 XXM SOIA 3,215,498 2,922,777 292,721
Jl 2,473,460
[ 742,038
01 HAHHBAEES 3,215,498 2,922,777 292,721
OIIFHH 23 3,215,498
) 2,473,460
= 742,038
SSE0tU=E 22 930,021 641,702 288,319
Il 579,537
= 360,484
308 XXM SO0IH 930,021 641,702 288,319
Il 579,537
== 360,484
01 XN B2 LS 930,021 641,702 288,319
O3S=|0tLisH 29 930,021
Il 579,537




SA - B - BRI(E) - HRA - BAS of e A
< 360,484
S0tUsH SA M 10,440 6,720
B NAISHHSOIH 10,440 6,720
1K EES 10,440 6,720
OZS=FO0LIsE SAMA MMM 10,440
s=3H N 75,000 37,500
Il 75,000
308 AtAIEMSOIE 75,000 37,500
Jl 75,000
01 XN BSELES 75,000 37,500
O==3sH N 75,000
Il 75,000
st AtRlEE £d 6,300 7,000
7 Q12401 ™ 6,300 7,000
2 QI AAEE R 6,300 7,000
OJi5glst elsd2 &t N 6,300
SRIIE HHEFH S A 21,420,000 17,838,000
Il 19,040,000
= 2,380,000
308 AtXIEMSOIE 21,420,000 17,838,000
Il 19,040,000
= 2,380,000
01 XN EES 21,420,000 17,838,000
O8R2II=E IH2=Hl s X 21,420,000
Il 19,040,000
=S 2,380,000
2ItE SXAIE dAX A - XISH X 27,200 19,058
Il 16,000
< 11,200
308 AXIHSOIA 27,200 19,058
Il 16,000
= 11,200
01 X SHHEAEES 27,200 19,058
OtRR2IIE SXAE 4T 48 - XS
A& 27,200
Il 16,000
= 11,200
MEDIEE (0L YT) =AHX 70,280 54,300
Il 70,280
308 AHXIHMSO0IA 70,280 54,300
Il 70,280
01 HAHHBSEEXS 70,280 54,300
OZsdaIEE (ML) =HXR 70,280




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
| | 70,280
SR2IIE X 240,096 240,09% 0
308 AHAIEHMSOIH 240,096 240,09%
01 AXEHBSEES 240,096 240,09%
OtR2I1E Heddl X 240,096
orolEs X 14,082,654 10,988,201 3,094,453
= 12,304,756
== 1,777,898
307 elztol & 449,512 443,334 6,178
= 224,756
< 224,756
1 AMEISXAIEEXS 449,512 443,334 6,178
O0l0l== ZHXREH =24 449,512
= 224,756
= 224,756
308 AHXIHMSO0IA 13,633,142 10,544,867 3,088,275
= 12,080,000
= 1,563,142
01 XN B2 LS 13,633, 142 10,544,867 3,088,275
OotoI=sXIE 13,633, 142
= 12,080,000
== 1,563,142
OlOI=Z=E XA SALL XM2MHA 14,760 14,280 480
308 AtXIEMSOIE 14,760 14,280 480
01 HASHHBSEXS 14,760 14,280 480
OO00I=SXEAY SALAH X< H 14,760
EIYEE XN 315,414 312,825 2,589
= 210,275
= 105,139
308 XXM SOIA 315,414 312,825 2,589
= 210,275
== 105,139
01 HRSHH B EES 315,414 312,825 2,589
oI5 s X3 315,414
= 210,275
< 105,139
HadeRR Olses & HEAE 189,000 288,000 /99,000
Jl 168,000
= 21,000
308 AFAIEHMSOIH 189,000 288,000 299,000
Jl 168,000
=S 21,000




3= EER-E)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2

01 XN B2 LS 189,000 288,000 99,000
OFAHERE Ots2s & I8 189,000
Jl 168,000
< 21,000

g DIEZRERN HEII2 29 98,850 50,850 48,000
Il 65,900
= 32,950

308 XM SOIE 98,850 50,850 48,000
Jl 65,900
= 32,950

01 AXH B2 LS 98,850 50,850 48,000
OdoE DIg22N HEII& 2 98,850
Il 65,900
s 32,950

CHEaEXZ2dE 24 136,071 294,240 158,169
) 104,670
S 31,401

308 AtXIEHMSOIE 136,071 294,240 158,169
Il 104,670
= 31,401

01 XN EES 136,071 204,240 158,169
OUZs=EX2NE 29 136,071
Jl 104,670
= 31,401

SIEXE A8LEH 2 40,300 39,000 1,300
Jl 20,150
[ 20,180

308 AXIHS0IA 40,300 39,000 1,300
) 20,150
= 20,150

01 HASHHBSEXS 40,300 39,000 1,300
OL=shEXR HEUH &8 40,300
Il 20,150
= 20,150

CtEshts Sdatatd 2,437,659 2,363,948 73,711
Il 1,875,125
== 562,534

308 AXIHSOIA 2,437,659 2,363,948 73,711
Jl 1,875,125
< 562,534

01 HAHHBSEEXS 2,437,659 2,363,948 73,711
OU2=E SH3tAtY 2,437,659
Jl 1,875,125




AFIHI= (St ®2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
| & 562,534
JIEAE & URIEA2ME SAEL X2HE X2 37,080 37,080 0
308 AHAIEHMSOIH 37,080 37,080
01 AXEHBSEES 37,080 37,080
OJt=EHE 2 T2E X EE SAEA
ySE R 37,080
SIS GAMHIA 2 120,000 120,000 0
308 XXM SOIA 120,000 120,000
01 XN BSELES 120,000 120,000
Og=otE4Y NHlA 29 120,000
CHE3ts SBIAXI (KA 160,440 136,727 23,713
308 AtXIEMSOIE 160,440 136,727 23,713
01 HASHHBSEXS 160,440 136,727 23,713
Ot=2=hiE SHAXE 158,940
OSHIARNEAN Ens 1,500
CHE3ts X 17,500 17,500 0
201 er23| 7,300 7,300
01 At2tltl 7,300 7,300
OLHE3ts a4 g2t 7,300
301 EtE N = 200 200
11 #AIAHIXIZ S 200 200
OL23ItE 24Xl 39 FAXF AHI24 200
308 AtXIEHMSOIE 10,000 10,000
01 AXEH B EES 10,000 10,000
OJIB4E & 2|12 g2sAs 10,000
CH23tE stots =M X 13,500 15,000 21,500
308 XtXIEMSO0IE 13,500 15,000 21,500
01 XN B2 LS 13,500 15,000 21,500
OLt=3tsE etits =Ml A& 13,500
SIRIIIE SXAE O0ISSAMHIA X 27,950 131,120 A103,170
) 21,500
< 6,450
308 AXIMSOIA 27,950 131,120 /103,170
Il 21,500
= 6,450
01 XN B EES 27,950 131,120 A103,170
OR2I1E =XAI4 O0l0ISSAHIA XI# 27,950
7l 21,500
= 6,450
JIEdE A8 1,209,000 1,493,000 284,000
= 930,000
< 279,000




HFINI= EER-E)
U RA B O9I(S) - MRAY - BAS A HIDEZ
403 X SHHMSAH=01H 1,209,000 1,493,000 284,000
= 930,000
== 279,000
01 A= 2L ,209,000 1,493,000 284,000
OIS AHE ,209,000
= 930,000
& 279,000
SIRZIIE=SIAE ARIS22E 35,490 18,840 16,650
35,490
308 AXIHSOIA 35,490 18,840 16,650
35,490
01 MASHHBSExS 35,490 18,840 16,650
OBIRRIE=TI AL
] 35,490
35,490
FAERD otse=sHl X 315,120 0 315,120
= 242,400
=S 72,720
308 XXM SOIA 315,120 0 315,120
= 242,400
< 72,720
01 XN BSELES 315,120 0 315,120
OFAHER Ots2=FH| A& 315,120
= 242,400
= 72,720
OleiidZeth 2 294,619 232,943 61,676
Hg&lst FAetd &4 294,619 232,943 61,676
101 e124d| 39,668 13,649 26,019
M ORINZZ2NSE S 39,668 13,649 26,019
OFArztel 19,834
-2 19,834
JlEsg 14,075
RPN 539
- HE SO 1,207
- YHGA 980
-HIYRES 1,857
- dEYs 2 1,176
Oo=usg 24 19,834
-8B 19,834
JlEas 14,075
- Xt 539
- EEFOH 1,207
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2 YHWSIHEIH SN SHBSIEZH

Ha: B0l Y= 08, B2 F= IS

s DIHHE 3t 29 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

11 HALAHIXIEZ 80 1,080 21,000
ORINHA2Z Xt 80
-2 A Bl 80
401 AIEHIZ 2018 65,550 12,000 53,550
01 AlEHI 65,550 12,000 53,550
OO0l L ECHAt SHZIHE AL 65,550
—A=E YAy 65,550
405 Rt SHI 5,400 22,000 216,600
01 L = SF S| 5,400 22,000 216,600
OYEERH(LESR) 5,400
ESEAGE e 19,442,308 14,395,015 5,047,293
= 953,876
| 5,590,574
& 12,897,858
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= 890,600
| 293,372
& 10,720,377
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1 ARI=XAIEE X 36,000 36,000
OFaxdE FNUFR 36,000
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| 5,000
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308 RXISHMSOIH 11,200 11,200 0
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01 AXIEHBLEES 11,200 11,200 0
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| 11,200
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A= SHESIHIEFRA SHEZH2

M HAEASUS}

ol HAEESHE (SH &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmrTACERE N S5 B Ol &0 ==

< 207,163

307 212t01 & 414,326 411,436 2,890
Il 207,163
S 207,163

10 MeISXAEHE2EHIEX 322,736 288,846 33,890
O FAUEoHY A=A 322,736
J| 161,368
S 161,368

11 A S XA E X 91,590 122,590 /31,000
Ok FAUEetda IFAHY 91,590
| 45,795
< 45,79

HAEOIMA P=(XIR) 604,752 596,040 8,712
| 604,752

308 AXIHMSOIA 604,752 556,040 8,712
| 604,752

01 AIXHHBAELS 604,752 5%,040 8,712
OAlZ ZAEHMA AZALS 604,752
J| 604,752

BAEHSEXAAS 581,581 605,427 N23,846

307 212t01& 581,581 605,427 N\23,846

10 AlRISXAIZEHE 22X 531,581 550,427 N\ 18,846
OF2GAE=ENNE 29 531,581

11 AL SXAIEE X 50,000 55,000 25,000
OFAHLUEXIAAS 50,000

SUHNEZOY2IXA(ZE) 60,656 59,7% 860
| 30,328
= 30,328

307 212t01 & 60,656 59,7% 860
Il 30,328
< 30,328

10 Al SXAIZEHE 22X 60,656 59,7% 860
Ok s IR 2 60,656
J| 30,328
S 30,328

SUNEZ ORI XA (XH) 385,940 360,230 5,710
| 385,940

308 KXIEHMSOIH 385,940 380,230 5,710
J| 385,940

01 XN ELS 385,940 380,230 5,710
OAlZ sEtAt 2203 2N & 385,940
Pl 385,940




EEESIEEE Sot=m
e
=HES8x EERE)
CRA - EB . SR(B) - MISAY - BA2 A e
s g a4l 375,668 374,579 1,089
J| 262,967
T 112,701
307 QI2t0I A 375,668 374,579 1,089
J| 262,967
= 112,701
10 AFSI=XIAl 208,29 255,829 NAT7,535
O st ¢ =29 208,294
J| 145,805
& 62,489
11 ALZI= XA 167,374 118,750 48,624
OF &u 167,374
J| 117,162
T 50,212
st gt FHAE X (K) 969,6%6 957,840 11,856
Dl 969,69%
308 AMXISHS 969,69% 957,840 11,856
J| 969,69%
01 XX SXE 969,69% 957,840 11,856
OAlZ &1l 969,69%
J| 969,69%
st g HAE Al X 4,7% 4,7%6 0
J| 2,398
& 2,398
307 QIZt0IA 4,79% 4,7% 0
J| 2,398
& 2,398
11 AISI=S XA 4,79 4,7% 0
Ok gt 4,79%
J| 2,38
T 2,398
o 8 HAE A X(XY) 65,748 65,748 0
J| 65,748
308 AHX|IEHHISO| 65,748 65,748 0
J| 65,748
01 AXISHANBAEX 65,748 65,748 0
OAlIZ &t 65,748
J| 65,748
178t =84810 86,250 81,706 4,544
Dl 78,590
== 7,660
307 QIZ2tOIA 86,250 81,706 4,544
J| 78,590
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SA - BB BI(B) - MRAE - BaS A HIDEZ

[ 7,660

11 AMEISXAEEXS 86,250 81,706 4,544
O17stZEANHH 24 86,250
Il 78,590
= 7,660

StEs" A K3 &) 60,824 58,248 2,576
Jl 60,824

308 AXIHSOIA 60,824 58,248 2,576
Il 60,824

01 XN B2 LS 60,824 58,248 2,576
Ostu=e dAS HIE 60,824
Jl 60,824

AEEETE A (X 127,500 79,440 48,060
Il 127,500

308 AtXIEMSOIE 127,500 79,440 48,060
Il 127,500

01 AXHH B2 L 127,500 79,440 48,060
OAlZ BAESEXE At 127,500
) 127,500

28 gus 2SN 1,691,682 1,465,203 226,479
Jl 1,127,790
== 563,892

308 AXIHMSOIA 1,691,682 1,465,203 226,479
) 1,127,790
& 563,892

01 HAHHBSEEXS ,691,682 1,465,203 226,479
OFad 2= 25X¥ ,691,682
Il 127,790
= 563,892

HY S= JAGLSA BHXIAZ(ZE) 72,368 71,180 1,188
= 36, 184
=S 36,184

307 elztol & 72,368 71,180 1,188
= 36,184
& 36, 184

11 AMEISXAIEEXS 72,368 71,180 1,188
OClHY 5= dEdEAN BIXIAI 72,368
= 36,184
& 36,184

HUY = AGLSA BHXIAI (X&) 18,092 17,795 297
= 18,092

308 AXIHS0IA 18,092 17,795 297
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